
 

 
 

Ermittlung der Betriebsleistung 9.  
 
 

9.01 produktive Stunden                        h 
 (1.00) 

9.02 x Stundenverrechnungssatz                        € 
 (7.00) 

9.03 = Zwischensumme                                                € 
 (9.01 x 9.02)  
 

9.04 + Materialeinsatz                          € 
 (5.01)  

9.05 + über Material verrechnete Kosten                   %                          € 
 (5.00) 

9.06 + Fremdleistungen                          € 
 (6.01) 

9.07 + über Fremdleistungen                   %                          € 
 verrechnete Kosten 
 (6.00) 
 

9.08 = Betriebsleistung                          € 
 (9.03 + 9.04 + 9.05 + 9.06 + 9.07) 

9.09 - Gesamtkosten                          € 
 (2.00 + 3.00 + 4.01 + 5.01 + 6.01) 

9.10 Betriebsergebnis                          € 
 (9.08 - 9.09) 

 


